
KFUPM – Department of Mathematics and Statistics – Term 153 
MATH 101 

QUIZ # 5: Code 1 (Duration = 20 minutes) 
 
NAME:_____________________________________ ID:________________________ Section: ______ 
 

 
Exercise 1 (3 points) The differential of the radius of a cylinder is measured and found to be 0.04. If the 
height of the cylinder is supposed to be the double of its radius, find the percentage error of the volume 
of the cylinder when its radius is 4.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Exercise 2 (3 points) Find the local extremums to the curve xxy )3(     

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Exercise 3 (4points) Show that the equation  0237  xx  has exactly one real root. 
 

 
 
 
 
 
 
 
 
 
 

 



KFUPM – Department of Mathematics and Statistics – Term 153 
MATH 101 

QUIZ # 5: Code 2 (Duration = 20 minutes) 
 
NAME:_____________________________________ ID:________________________ Section: ______ 
 

 
Exercise 1 1 (3 points) The differential of the volume of a sphere is measured and found to be 0.05. Find 
the percentage error of the radius of the sphere when its volume is 5. 
 
 
  
 
 
 
 
 
 
 
 
 
 
 
 

 

Exercise 2 (3 points) Find the local extremums to the curve 1)4(  xxy    

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Exercise 3 (4points) Show that the equation  0265  xx  has exactly one real root. 
 
 
 
 
 
 
 
 
 
 

 
 
 



KFUPM – Department of Mathematics and Statistics – Term 153 
MATH 101 

QUIZ # 5: Code 3 (Duration = 20 minutes) 
 
NAME:_____________________________________ ID:________________________ Section: ______ 
 

 
Exercise 1 (3 points) The differential of the radius of a cone is measured and found to be 0.06. If the 
height of the cone is supposed to be the triple of its radius, find the percentage error of the volume of the 
cone when its radius is 6.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Exercise 2 (3 points) Find the local extremums to the curve 2)5(  xxy    

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Exercise 3 (4points) Show that the equation  0259  xx  has exactly one real root. 
 
 


